CHAPTER 8

INTERNAL STAFFING AND CAREER MANAGEMENT ISSUES
1.
Which of the following items are considered examples of attrition

A.
voluntary and involuntary terminations, retirements, transfers and deaths

B.
mergers, acquisitions and buy-outs

C.
growth, recession, depression, inflation

D.
reorganisations, general economic trends and new jobs from company growth

2.
Which of the following items are not considered examples of reorganisation?

A.
mergers

B.
general economic trends

C.
flattening of the organisation structure

D.
acquisitions and buy-outs

3.
Promotions serve many purposes. They enable organisations to use their employees' abilities to the fullest, they motivate excellent performance, and they

A.
can improve satisfaction because there is a significant correlation between opportunities for promotion and job satisfaction

B.
always are successful since promoted employees never fail

C.
directly lower the expense of salaries to the employer's budget

D.
are likely to increase as a percentage of all internal staffing decisions during this decade

4.
Job posting is the most popular example of the _____________ staffing system

A.
closed promotion

B.
open promotion

C.
lateral promotion

D.
assessment centre

5.
Which of the following criteria is not typically considered "official" promotional criteria?

A.
seniority

B.
past performance

C.
social connections

D.
assessment centre outcomes

6.
Joe Matthews has 10 years seniority, working all of his years in the Warehouse Department. Maria Kirk has 8 years seniority, all in the Assembly Department. Matthews and Kirk were the only bidders on an unskilled Assembler job in the Assembly Department. Kirk was awarded the job. On what seniority basis was the job bid most likely awarded?

A.
trade seniority

B.
national security

C.
plant-wide seniority

D.
departmental seniority

7.
Under which of the following circumstances would past performance on the first job more likely be a valid predictor of success if the candidate was promoted to the second job?

A.
carpenter promoted to construction supervisor

B.
local sales manager promoted to regional sales manager

C.
electrical engineer promoted to manager of engineering

D.
secondary school teacher promoted to school principal

8.
________________ is the showing of favouritism to relatives and is often criticised because family members get desirable jobs for which they may or may not be qualified

A.
Patronisation

B.
HR balancing

C.
Bona fide seniority system

D.
Nepotism

9.
_____________ is the reassignment of an employee to a lower job, usually with less pay and fewer job responsibilities.

A.
Demotion

B.
Transfer

C.
Patronisation

D.
Nepotism

10.
_______________ is the reassignment of an employee to a job which has similar pay and job responsibilities.

A.
Demotion

B.
Transfer

C.
Promotion

D.
Nepotism

11.
________________ is the process of designing and implementing goals, plans, and strategies that enable HR professionals and manager to satisfy both organisational needs and the career goals of individual employees

A.
Balancing

B.
Individual career planning

C.
Career management

D.
Outplacement assistance

12.
Temba Modisa demonstrates competence on his current job, and shows that he understands the politics of organisational life. He is at a stage where he needs less guidance and supervision, but still values coaching and friendships. Which career stage best characterises his current phase?

A.
withdrawal

B.
maintenance

C.
establishment

D.
advancement

13.
"Dual-career couples" refers to the 

A.
married couple households where both the husband and wife are employed outside of the home

B.
couples in which both the husband and wife are unemployed

C.
situation where both members of the couple work for the same employer

D.
couples where either the husband or the wife have two jobs

14.
Career management programmes benefit organisations in all of the following ways except:

A.
giving managers more control over their subordinates

B.
giving employees increased skill in managing their own careers

C.
providing greater retention of valued employees

D.
giving an increased understanding of the organisation

15.
Which of the following should managers not do in terms of career management?
A.
encourage employees to take responsibility for their own careers

B.
offer continuing assistance in the form of feedback on individual performance

C.
design a career plan for employees

D.
provide employees with career opportunities that might be of interest

16.
HR's role in gauging employee potential for career management purposes includes all of the following except:

A.
establish talent inventories

B.
establish succession plans

C.
create employee's promotion plan

D.
use assessment centres

17.
While a career management programme requires special processes and techniques, a basic requirement is:

A.
task analysis

B.
role modeling

C.
management support

D.
a promotion policy

18.
The most important objective of any career management programme is to:

A.
outline possible career paths

B.
provide tools and techniques that enable employees to gauge their own potential for success

C.
motivate employees to stay with the organisation

D.
give employees a realistic look at possible career options in the organisation

19.
The three principal criteria for determining promotions are:

A.
seniority, salary and skills

B.
knowledge, skills and salary

C.
seniority, knowledge and luck

D.
merit, seniority and potential

20.
All of the following are basic skills needed for successful career management except:

A.
self-motivation

B.
interpersonal relationships

C.
time management

D.
accommodation

21.
Career plateauing occurs because:

A.
economic conditions remove promotional opportunities

B.
either organisational or personal reasons reduce or remove the probability of moving up the ladder

C.
employees are given opportunities for lateral growth where advancement does not exist

D.
negative performance appraisals remain in the employee's file

22.
As a result of mergers, acquisitions, restructurings and lay-offs, career success is now defined by

A.
the employer

B.
the individual

C.
co-workers

D.
the employee's family

23.
In recent years, the way people look at careers has changed. The individual, not the organisation, manages his/her own development. This has been caused by

A.
increased moonlighting

B.
challenges to traditional ethical values

C.
corporate growth and international expansion

D.
mergers, acquisitions, restructurings and lay-offs

24.
A(n) _____________ is a sequence of work-related positions a person occupies throughout life

A.
career

B.
job

C.
profession

D.
occupation

25.
More and more people are facing career transitions - they are forced to look for another job. Why?

A.
Their ethical values are inconsistent with those of the organisation

B.
They are planning for a second career

C.
Two career marriages have produced too many personal and job conflicts

D.
Organisational retrenchment and downsizing have changed career plans

26.
Individual-centered career planning focuses on

A.
the individual's goals and skills

B.
the career ladder for that employee

C.
the replacement chart

D.
the internal opportunities for career advancement

27.
Which of the following is a recent characteristic of career progression?

A.
The number of middle-management positions will continue to grow

B.
Small businesses will provide fewer and fewer jobs each year

C.
Large companies will be the source of increased career opportunities

D.
The typical career will include many different positions, transitions and organisations

28.
In an ideal sense, organisations view retirement as

A.
a way of "getting rid of" older workers

B.
providing opportunities for fast-track younger people to move up in the organisation

C.
an orderly way to move people out at the end of their careers

D.
providing an opportunity to recognise people who have provided years of loyal service 

29.
Which of the following statements is true about dual-career couples?

A.
Part-time work, flextime and work-at-home arrangements are generally unacceptable options for most couples

B.
Dual-career couples are more mobile due to their dual income

C.
Dual-career couples have more to lose when relocating

D.
Their numbers are decreasing as more women opt for the "mommy track"

30.
Career management should begin with
A.
an appraisal of the performance of all managers

B.
the HR plans of an organisation

C.
a review of current training and development practices

D.
the career plans of current employees

31.
What is an assessment centre?
A.
A collection of instruments and exercises designed to diagnose individual's development needs

B.
The place specifically established for selection screening

C.
A procedure for evaluating training and development programmes

D.
The organisation's centralised employee performance appraisal system

32.
The advantages of assessment centres include
A.
the "typical" manager can serve as a assessor

B.
they are used as a way of avoiding difficult promotion decisions

C.
they help identify employees with potential in a large organisation

D.
they are not as expensive as traditional selection techniques

33.
A ______________ identifies who could take over key jobs if someone leaves, retires, dies unexpectedly, or otherwise creates a vacancy.
A.
succession plan

B.
career path

C.
succession chart

D.
needs assessment

34.
The glass ceiling refers to
A.
mentors describing the experiences of top management to a younger manager

B.
the "window' through which the outside world can see inside the organisation

C.
senior managers illustrating the opportunities for younger managers to progress in the organisation

D.
the situation in which women fail to progress into top management positions

35.
A general course of action a person chooses to pursue throughout life is a:
A.
career

B.
career path

C.
hobby

D.
vocation

36.
The major focus of career management should be on helping the employee achieve a better match between personal goals and:
A.
organisational goals

B.
realistic opportunities

C.
corporate culture

D.
the company's long-range objectives

37.
Career planning begins with gaining a realistic understanding of 
A.
promotional possibilities

B.
the nature of the company

C.
oneself

D.
the economy

38.
From the company's viewpoint, career planning involves a conscious attempt to:
A.
achieve organisational goals

B.
address immediate departmental concerns

C.
maximise a person's potential contribution

D.
fulfill the goals of academic training

39.
Career management programmes are expected to achieve the following goals except:
A.
more effective development of talent

B.
increased employee loyalty to their profession

C.
more efficient deployment of human resources

D.
a demonstration of a tangible commitment to employment equity

40.
Traditionally, career paths have focused on:
A.
blue-collar workers

B.
white-collar workers

C.
job rotation

D.
upward mobility

41.
To have an effective career management programme; each of the following must work together except:
A.
HR professionals

B.
union leadership

C.
immediate supervisor

D.
employees concerned

42.
A process involving the establishment of career goals and the means to achieve them is known as:
A.
individual career planning

B.
career development

C.
career screening

D.
career counselling

43.
Difficulties related to career management programmes occur when:
A.
employee expectations become unrealistic

B.
the company experiences sudden growth

C.
participation in the programme has been broad

D.
a few employees in the programme become disgruntled

44.
The initial, tentative career decision made by an employee is based on all of the following factors accept:
A.
personal needs

B.
competitiveness

C.
abilities

D.
aspirations

45.
Which of the following is not, from the organisation's viewpoint, a major objective of career management?
A.
To meet immediate and future human resource needs on a timely basis

B.
To utilise existing human resource programmes to the fullest by integrating activities which select, assign, develop, and manage individual careers

C.
To develop a promotional calender that involves the largest number of employees possible

D.
None of the above

46.
Successful career planning requires action from
A.
the organisation, the employee's immediate manager, and the employee

B.
the employee and his/her immediate manager

C.
a variety of sources both internal and external to the organisation

D.
the employee, with some assistance/guidance from his/her immediate manager

47.
The development of a career plan involves
A.
self-assessment, advanced training, career pathing and promotion

B.
self-assessment, communication of career options, career counselling and implementation

C.
organisational assessment, self-assessment, advanced training and career counselling

D.
self-assessment, organisational assessment, communication of career options and career counselling

48.
An organisation can manage the plateauing process by
A.
terminating "deadwood" "fast-track" current "stars" and reward "solid citizens"

B.
prevent plateauees from becoming ineffective, integrate career-related information systems and manage ineffective plateauees more effectively

C.
long-term career planning, detailed career pathing and increasing outplacement assistance

D.
none of the above.

49.
Which is not true about career plateaus?
A.
Promotion is unlikely.

B.
Most people reach a career plateau.

C.
It indicates a form of failure.

D.
It is more likely to occur at higher levels of the organisation.

50.
You should realise that the greatest danger once you have developed your career plan is
A.
being suddenly laid-off

B.
complacency

C.
a change in the economy

D.
a change in your personal situation
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